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Public Economics 3

Summary notes: Black et al, Chapter 11

Income taxation

Learning objective

· Define the comprehensive income tax base

· Discuss the international principles of taxing income

· Discuss why the personal income tax base differs from the comprehensive income tax base

· Explain what a progressive personal income tax is and how progressiveness is achieved

· Discuss the economic effects of personal income tax

· Explain why companies are taxed separately

· Define the company tax base

· Describe the classical and fully integrated company tax systems

· Describe company tax in South Africa

· Discuss the arguments for and against capital gains taxation

11.1  The comprehensive income tax base

Defining income on the uses (expenditure) side or sources (revenue) side

Uses approach: Y = C + S  

Sources approach: salary; wages; interest; capital gains; rent; profits; royalties; dividends; gifts; employer contributions to pension; unemployment benefits; income in kind (comprehensive definition) 

For administrative and other reasons govt taxes some sources of income separately:

· Personal income tax

· Company tax (profits)

· Capital gains tax (on the increase in the value of assets)

11.1.1 International taxation of income: the residence vs. source principle

With countries becoming integrated, income flows more freely across countries. 

Tax authorities can deal with the international taxation of income in two ways:

· Residence of taxpayer principle: the country of residence of the person/business who receives the income collects the tax.

· Source of income principle: Income is taxed by the country where the income is generated. 

In practice, most countries apply a mix of the two.  To reduce double taxation countries may grant tax relief/tax credit. Also countries enter bilateral tax agreements.  

Countries need to consider:

- the source principle ensures that persons/companies that make use of govt. expenditure on infrastructure and schools etc also contribute to tax revenue (benefit principle)

- countries with low foreign income should use the source principle for administrative simplicity. But where income from investments abroad is high, one would want to use the residence basis

- the source principle neutral with regards to capital imports, and the residence principle neutral with regards to capital exports.

In SA, taxation was based on the source principle. Due to increased globalisation, from Jan 2001, residence based system introduced.

It may contribute to equity as those with offshore income will pay taxes. It also helps to curb losses as exchange controls are relaxed.

But, administrative problems, problems of definition and need to negotiate double tax agreements.

11.2  The personal income tax base

See Box 11.1. Comprehensive definition of income is broader than taxable income definition because of tax expenditures/ loopholes: exclusions; exemptions; deductions; rebates (credits)

11.2.1  Exclusions

Income tax usually levied on cash income – some forms of non-cash income are excluded:

· Income in kind (e.g. accommodation of domestic workers)

· Imputed rent (for owner-occupiers)

· Part of fringe benefits

· Barter transactions (difficult to detect)

11.2.2  Exemptions

As a way of providing relief to poor and aged - exempt an amount of income from tax. In 2005/06 R35 000 (<65) and R60 000 (65>) (dealt with through rebate system –below) 

Dividends and the first R15 000 of interest income are also exempt.

11.2.3  Deductions

Pension (retirement annuity funds)

Medical aid and medical expenditures

Entertainment, travel (when used to produce income)

11.2.4  Rebates

Subtract from amount of tax to be paid – for everyone.

Primary rebate effectively reduces tax at threshold level to zero ie. incomes of the poor become exempt from tax due to rebate. In 2005/06, R6 300 (<65); R10 800 (>65) 

11.3  The personal income tax rate structure

11.3.1  Progressiveness in personal income taxation

Yardstick is the ability to pay but it’s not easy to determine.

Adapt to personal circumstances? Tax married couples jointly? Allowances for children? 

In SA, until 1995, tax unit was the married couple – implies discrimination against the wife. Margo and Katz Commissions recommended the individual as the unit.

Progressivity is determined by looking at average tax rates (amount of tax payable as a proportion of the taxable base). Average tax rate increases as taxable income increases.

Progressivity in SA is achieved by using exemptions (rebates) and taxing blocks of income/ brackets at different rates. Graduated rates in blocks called marginal rates.  See Table 11.1, p. 164.

11.4  Economic effects of personal income tax

Applying the criteria for a ‘good tax’ to personal income tax

· economic efficiency

· equity

· administrative efficiency

· flexibility

11.4.1  Economic efficiency

Recall excess burden is a measure of inefficiency of a tax, (burden over and above the normal burden of the tax).

· General tax on income

The effect of a tax on all income is similar to that found in Fig. 10.1 - an inward shift of the budget line (similar to a head tax) – cannot avoid the tax if we assume leisure is taxed at the same rate or ignored.

Relative prices remain the same and no excess burden results.

Leisure cannot be ignored or easily taxed, however.

· Selective tax on income

Including leisure in the analysis results in personal income tax having an excess burden. Workers have a choice between income and leisure.

Because only income is taxed, and not leisure, personal income tax is a selective tax - ‘distorts’ relative prices of work and leisure.

Supply of labour affected - outcome indeterminate. Depends on relative strengths of income and substitution effects.

See Figure 11.1, p. 166.

Assume Peter has 18 hours a day to spend on work or leisure.

X axis:  
Left  ( Right: measures leisure

Right ( Left: measures work

Y axis: 
income received from work

YL is his budget line at a wage rate of, say, R10 per hour.

Add indifference curves (which show Peter’s preferences) and one can determine Peter’s preferred combination of leisure and work at E0: work hrs =LQ0; leisure hrs =0Q0 

Proportional/flat-rate tax on income (e.g. 30%)

After-tax budget line is BL. E0 (E1

Welfare has declined and tax liability = E1G

Supply of hours increased to LQ1
Here the income effect dominates the substitution effect.

Income Effect: 

Lower after-tax income ( cannot afford same Q of leisure, causes Slabour to (
Substitution Effect:

Changed relative prices of work and leisure

After-tax wage ( so opportunity cost of leisure falls

( Dleisure increases, Slabour (
Can decompose movement from E0 to E1 into income and substitution effects.

By hypothetically compensating Peter with an amount to make him as well off as before the tax, budget line HJ results.

E2  ( E1  = income effect

E0  ( E2  = substitution effect (consequence of change in relative prices alone; opportunity cost of leisure falls)

Cannot tell a priori which effect will dominate.

Empirical evidence: supply elasticity close to 0 for prime-age males; for married women, high and positive

Established so far: tax has income and substitution effects that could cause Slabour to ( or (
What about efficiency, i.e. is there an excess burden?

Need to compare the effects of a proportional tax to those of a lump sum/head tax (which causes no excess burden).

Budget line DF (cuts BL at E1)

Equilibrium now at E3
Work hours ( to LQ3   

Welfare( (U1 to U2)

Difference between U1 and U2 ascribed to excess burden of a proportional tax that selectively taxes income.

A selective tax may lead to ( work effort, but not by as much as a lump sum tax. Lump sum tax of equal yield leads to even greater increase in Slabour.

Income taxes are therefore economically inefficient as they distort relative prices.

Progressive tax on income

The average tax rate is equal to the marginal tax rate for a proportional tax. For a progressive income tax, the marginal rate is greater than the average rate.

See Box 11.2, p.166. Average rates determine the income effect, marginal rates determine the substitution effect. 

The adverse incentive effects due to the substitution effect are likely to be greater for a progressive than a proportional tax. 

Lower marginal tax rates will increase work effort and improve compliance (less incentive to cheat). 

Consequence – a worldwide trend towards falling marginal tax rates. SA has followed (in 1970s in SA highest rate 72% - currently 40%). 

11.4.2  Equity

A progressive tax rate system adheres to the ability-to-pay principle. But if the tax can be shifted, may compromise equity objectives.

So, who ultimately bears the burden of the tax is NB.

If the supply curve is relatively inelastic e.g. for men elasticity close to 0, then the burden is mainly on worker.

If the supply curve is more elastic, e.g. married women and high-income (mobile) professionals, then the burden is shared between worker and employer.

11.4.3  Administrative efficiency and tax revenue

To reduce administrative and compliance burden, SA has implemented the Standard Income Tax on Employees - SITE. No tax returns required below R60 000 pa. 

Very small number of income taxpayers makes increasing tax revenue difficult (about 5 million with incomes above the threshold in 2004/05). 

Two approaches to increasing tax revenue (at a given level of GDP):

1. Extending tax base
· Lower tax rebates.  Impact on poor?

· Try to catch those in informal sector?

2. Reduce tax rates to increase total tax revenue (through increased work effort)

See Laffer curve relationship Figure 11.2 on p.171.

Tax revenue highest at B. At A increase tax rate, at C decrease tax rate to increase tax revenues. Critical question is where are we on the curve? 

11.4.4  Flexibility

Personal income tax functions as an automatic stabiliser (tax rises in upswing and falls in downswing)

On negative side – inflation erodes value of thresholds and deductions and leads to bracket creep (when a person ends up in a higher tax bracket because nominal income rises regardless of what happens to real income). Tax brackets also need to be adjusted.

Causes ‘fiscal drag’ – dampening effect on the economy of higher tax revenues caused by bracket creep, e.g. by reducing size of deficit or pushing budget into surplus when deficit would be appropriate.

11.5  Company taxation

Reasons for taxing companies separately:

· Companies are a separate legal entity. 

· Company receive ‘benefits’ from govt – therefore should be taxed according to the benefit principle
· If companies are not taxed, shareholders could limit personal income tax by retaining profits in the company. Taxing companies therefore limits avoidance. Fair from ability-to-pay perspective.

· Addresses imperfect competition issue by taxing excess profits of oligopolies and monopolies – helps correct market failures

· Useful for achieving other government policy objectives such as promoting investment (through the manipulation of rates and providing incentives)

· Administration is simple and it generates large revenues

· Avoids revenue loss to foreign investors repatriating profits to their home countries (through double-taxation agreements, the home country credits taxpayers with the amount taxed in the host country to avoid double taxation)

Company taxation is a significant but declining source of revenue in SA.

Reasons:

· As economy develops, tax base can be broadened, shift to – personal income and consumption based taxes

· Other factors that reduce profit margins, e.g. wage costs, imports costs, debt finance charges

· Exemptions, avoidance and evasion

· Falling mining revenues

11.6  The company tax structure

11.6.1  The company tax base

Taxable Income = total receipts/revenue 
less 

allowable expenses/costs

11.6.2  Types of company tax

2 types:

· Classical system/ partnership approach

Company and shareholders (dividends) are both taxed.

Leads to a double-tax of dividends (first as profit, then as income of shareholders).

· Full Integration System

Other extreme - all company income taxed in hands of shareholders. Company tax acts as withholding tax – credited at shareholder level.

SA used modified classical system prior to 1990 (with a certain proportion of dividends excluded from taxation). In 1990 all dividends became tax-exempt.

In 1993 modified again to reduce rate without undue revenue loss and to encourage companies to finance themselves.

A dual tax rate was introduced

(i)
Basic tax: proportional tax, (40% in 1993; in 2005 29%) on all retained profits (i.e. profits not paid out in dividends)

(ii)
Secondary tax on companies (STC): introduced in 1993, levied on distributed profits/dividends (25% in 1994; lowered to 12.5% in 1996)

Some tax relief for small and medium-sized businesses - 

SMMEs important for job creation. 

The company tax structure can lower or raise the user cost of capital and hence the decision to invest or not. Tax incentives (e.g. allowances for R&D/training) are used in many developing countries to attract investments to particular regions, sectors, industries.

11.8 Capital gains tax

Capital gains – increases in the net value of assets over a period.

They can be taxed when they accrue or when they are realised.

Currently capital gains are taxed in a number of developed countries as well as in some developing countries. 

On 1 Oct 2001, SA implemented a capital gains tax (CGT). Levied when there is a change in the ownership of an asset, i.e. when capital gains are realised.

For individuals, effective rate from 0 to 10%. For companies, 0 to 14.5%. Other exemptions and allowances.

Revenue from CGT in SA will not be very large (about 1% of total tax revenue).

Reasons for CGT:

· Protect the integrity of the personal income tax base. Otherwise incentive to convert income into capital gains to avoid taxation.

· Ensure horizontal equity. A capital gain represents an increase in economic power, ability to earn income.

· Ensure vertical equity. Capital gains generally accrue to higher-income earners.

· Improve economic efficiency. So investment decisions are not made to avoid taxation.

Arguments against CGT:

· Administrative problems. E.g. valuing assets (less problematic when tax is on realised gains).

· If nominal profits are taxed, equity is risked. Inflation causes imaginary capital gains. Need to deflate with a suitable price index – further complication.

· Lock-in effect can affect investment negatively, taxpayers tend to lock in rather than realise investments

